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QUESTION 1

Which two statements about Label/Jump To functionality are true? (Choose two.) 

A. It allows you to pass variables to different automations of the same project. 

B. It allows you to connect with other automations in the project. 

C. It allows you to pass variables to different parts or workflows of the same automation. 

D. It allows you to keep automations organized and aids in debugging. 

Correct Answer: BC 

Reference: http://help.openspan.com/191/Automations/Label_and_Jump_To.htm 

 

QUESTION 2

The variable varInput is a String that holds the value What is the output? 

What is the outcome of the above automation? 

A. An exception is thrown. 

B. The variable varOutput ends with C. 

C. The variable varOutput ends with A. 

D. The variable varOutput ends with B. 

Correct Answer: D 

 

PEGAPCRSA80V1_2019 PDF Dumps | PEGAPCRSA80V1_2019 VCE Dumps | PEGAPCRSA80V1_2019 Study
Guide

                               2 / 8

https://www.certbus.com/pegapcrsa80v1_2019.html
https://www.certbus.com/pegapcrsa80v1_2019.html
https://www.certbus.com/pegapcrsa80v1_2019.html
https://www.certbus.com/pegapcrsa80v1_2019.html


https://www.certbus.com/pegapcrsa80v1_2019.html
2024 Latest certbus PEGAPCRSA80V1_2019 PDF and VCE dumps Download

QUESTION 3

You add a MessageDialog component to an automation. Based on the following image, which option shows the
configuration settings that generates the message dialog? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

 

QUESTION 4

You are debugging a project with several automations. You are particular about one specific value in a procedure
automation and want to monitor the value while debugging. Which debugging window do you use during the debugging
process? 

A. Locals 

B. Automation Watches 

C. Breakpoints 

D. Threads 

Correct Answer: D 

 

QUESTION 5

There are two basic types of automations: events and procedures. 

Which three statements describe a procedure automation? (Choose three.) 

A. It performs business logic and may interact with applications. 

B. It is triggered by a user or application action. 

C. It may contain more than one starting block. 

D. It contains an entry point and should contain at least one exit point. 

E. It should return a string value for messaging. 

Correct Answer: CDE 

 

QUESTION 6

DRAG DROP 

When debugging an automation, you have three function keys to use for navigating the breakpoints. In the Answer
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Area, drag each navigation rule on the left to its correct function key. 

Select and Place: 

Correct Answer: 

Reference: http://help.openspan.com/52/Diagnostics/Break_Points.htm 

 

QUESTION 7

You are evaluating business requirements and reviewing each adapter in a project. 

Prior to interrogating the application, what three actions do you perform during application discovery? (Choose three.) 

A. Identify the technology on which the application is built (web, Windows, text). 

B. Verify the match rules on all interrogated controls. 

C. Verify the interactions between all applications in the solution. 
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D. Verify the number of application instances accessed by the user at the same time. 

E. Verify how the application launches outside of Pega Robot Studio. 

Correct Answer: BCD 

Reference: http://help.openspan.com/191/Adapters_Interrogation/interrogator_and_match_rules2.htm 

 

QUESTION 8

You are responsible for sending the deployment package to the customer. You are required to build your solution to
work with the test and production HR systems. The customer only wants to create one solution that can work with both
environments. 

How do you fulfill this request? 

A. Add two adapters to the HR Project: One adapter for production and one adapter for test. 

B. Add two configuration files to the HR System project: One configuration file for production and one for test. 

C. Add one configuration file to the HR System project; the configuration file contains the production and test details. 

D. Add two projects to the solution: One project for production and one project for test. 

Correct Answer: B 

 

QUESTION 9

You are working on a team project with several other architects. Each architect is assigned to create activities for
several applications. You are ready to add your HR adapter project to the controller project. Which three steps are
required to add the HR project to the main solution? (Choose three.) 

A. Create an activity to make a call to the HR project to log in to the application. 

B. Import the HR project to the controller project using the manage imported projects window. 

C. Update the controlling project\\'s .Net framework property to match the HR adapter project. 

D. Add an existing project from the solution file using the solution explorer window. 

E. Add an assembly reference to the HR project from the controller project. 

Correct Answer: ABE 

 

QUESTION 10

Which project property setting do you set to true to automatically increase the deployment version? 

A. Increase Deployment Version 

B. Increment Deployment Version 
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C. Update Run Settings 

D. Increase Assemblies 

Correct Answer: B 

Reference: http://help.openspan.com/80/Project_Items/Project_Properties.htm 
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